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CIS 581 Design and Verification of Information Systems

Dr. Boleslaw Mikolajczak

20 points

Final Examination

Problem 1: Reference Model of WfMC (2 points)


Describe a reference model of the WfMC. What are 5 interfaces of this model and what is their significance?

Problem 2: Three dimensions of workflows (2 point)


What are three dimensions of workflows. Give your own example of these dimensions.

Problem 3: Influence of workflows on organizations (2 point)


We discussed eight hypotheses of workflow influence on organizations and systems. Formulate four of these hypotheses and give arguments why these hypotheses are be true.

Problem 4: Consistency in IOWFs (2 points)


Existence of operations of iteration and fixing the moment of choice are main contributions to difficulty with the concept of consistency in IOWF with Message Sequence Charts (MSC). Explain in your own words and arguments what is computational complexity of consistency for such IOWF.

Problem 5: Client and Server IOWF architecture – reachability graph (3 points)


Client and server workflow processes are specified graphically for this problem. A coupled workflow is also given in a graphical form. Compute reachability graph for:

a) client workflow (1 point)

b) coupled workflow (2 points)

Problem 6: Correctness of Client and Server IOWF architecture – (2 points)


Another coupled workflow for client-server architecture has been defined graphically. Is this workflow sound (1 point) and safe (1 point) ?

Problem 7: Process-based Architectures for Inter (2 points)


Give names of six process-oriented architectures suitable for electronic commerce and inter-organizational workflows (1 point). Give short characteristics of these architectures from reusability and amount of communication points of view (1 point).

Problem 8:  Case Transfer Architecture for Inter-organizational Workflows (2 points)


CT-IOWF (Case-Transfer Architecture for Inter-organizational Workflow) is described in figure (as attached) for three business partners: insurance company-A, the primary agencies-B and secondary agencies-C. In this architecture each business partner uses the same business process definition. However, some tasks can be only executed by some business partners and a case always resides at exactly one location


Consider the following scenario: a customer reports a claim at a secondary agency, the claim is classified a complex, the claim is rejected, and only the insurance company and the secondary agency are involved in the process. Show that in this particular scenario, at least five transfers are necessary to complete the case. Identify these transfers.

Problem 9: Correctness of IOWF (3 points)


For an example of supply chain IOWF answer the following questions:

a) is this global IOWF sound, explain ?

b) What are place invariants? What do they mean?
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